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5 [ ZESER IN—F Eher s =5 3y
ATt :ﬁn I Bl e o | oo sxnm | ok | DERE | e Bk o7 | s | LEmE mRET | 2R
zx | REDE g‘g%g BEERDY | EEE EER f;‘lgif é@;ﬁ;\h\ O;ﬁ:F GEAS | BEAS
) ®) © | c/Bx100 | c/Ax 100 % % % |
ERNERE 98, 840 44,907 32,653 12.7 33.0 32,653 - -1 1,923 5.9 14,630 44.8 16,100 49.3 214 2,376 3,200 - -
ARG 14,518 30,712 25, 565 83.2 34.3 25, 565 - -l 1,627 6.4 12,136| 47.5 11,802] 46.2 1 1,941 39 - -
=i 55,148 21,559 17, 343 80.4 31.4 17, 343 - -1 1,051 6.1 8,336| 48.1 7,956 45.9 - 1,616 - - -
FeEE™ 18, 211 8,542 7,759 90.8 42.6 1,759 - - 553 7.1 3,590| 46.3 3,616] 46.6 1 325 39 - -
=lEss 1,159 611 463 75.8 39.9 463 - - 23 5.0 210] 45.4 230] 49.7 - - - - -
t4-iNEt 24,322 14,195 7,088 49.9 29.1 7,088 - - 296 4.2 2,494 35.2 4,298] 60.6 213 435 3,161 - -
=k 24,322 14,195 7,088 49.9 29.1 7,088 - - 296 4.2 2,494 35.2 4,298] 60.6 213 435 3,161 - -
BEAERDEERBER (T6—-1-1)
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OBELL - . %292 X BER 50 % AR BRI A AR
e | | HaEM | EBEM oo [T PRI e n | amrws | cmi | aase | SEHH
4R 1RBE) EARR | DUET | smak | mRuzey | Bhw ZEMR HIBE | ZONEN | OETS | AR | HEAA
® ®) © | oBxi00|caxto| T | RERE % % % |PhER FELL L
BERNRE 45,340 17, 802 12,394 69.6 21.3 12,394 - - 557 4.5 4,875 39.3 6,962 56.2 93 1317 1,475 - -
ARG 34,215 11,7112 9,632 82.2 28.2 9,632 - - 476] 4.9 4,009 41.6 5 1471 53.4 - 593 17 - -
=G 25,214 8,232 6, 480 18.7 25.7 6, 480 - - 317 4.9 2,639| 40.7 3,524] 54.4 - 501 - - -
FREETH 8, 389 3,250 2,986 91.9 35.6 2,986 - - 155 5.2 1,312 43.9 1,519] 50.9 - 92 17 - -
B 612 230 166 12.2 27.1 166 - - 4 2.4 58] 34.9 104 62.7 - - - - -
h-INEE 11,125 6,090 2,162 45 4 24.8 2,762 - - 81 2.9 866 31.4 1,815 65.7 93 144 1,458 - -
Tam 11,125 6,090 2,162 45 4 24.8 2,762 - - 81 2.9 866 31.4 1,815 65.7 93 144 1,458 - -
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nx | REDE ég%g BEZOT | EERE EER f;gﬁi é@;ﬁ;\b\ 0)1&;7& BEAE | BEAS
() (B) © C/Bx100 | G/Ax 100 % % % o)
ERRE 53, 500 27,105 20, 259 74.7 37.9| 20,259 - -| 1,366] 6.7 9,755 48.2| 9,138 45.1 121 1,639 1,725 - -
KNG 40, 303 19,000 15,933 83.9 39.5 15,933 - - st 72] 8127 s1.0] 6,655 41.8 1 1,348 22 - -
B 29,934 13,327] 10,863 81.5 36.3| 10,863 - - 73] e8] 5697 524 4432[ 40.8 - 1,115 - - -
Fesg 9,822 529 4773 90.2 486 4713 - - se8| 8.3 2278 47.7| 2,007 43.9 1 233 22 - -
B 547 381 297 78.0 54.3 297 - - 19 6.4 152| 51.2 126 42.4 - - - - -
tog-INEt 13,197 8,105| 4,326 53.4 32.8| 4,326 - -l 215] s0f 1628 37.6] 2,483 57.4 120 291 1,703 - -
TE 13,197 8,105| 4,326 53.4 32.8| 4,326 - - 215] s.0f 1628 37.6] 2483 57.4 120 291 1,703 - -
1 REBBHZZDEBRUVRERZRIAG (T6—2)
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5 E|shE|snE| shE | - | BERE | ERE | EEE ERE | ZER |@uzen)|aueso| guzan | Gueso)| WL | Q0k%E) | Q0KLLE)] 18. 5% 3'&%@'
(a) (b)
EWNHET| 32,648 6,746 9,464 2,707 566| 32,617 7,203] 4,353 2,928 32,617 5,381 2,103] 13,1901 9,562 3,513 3,839 19,221 1,524 2,055 1,1 114
ARF#8ET| 25,560 5,379 7,594 2,205 462 25,529 5,686 3,564 2,475 25529| 4,615 1,918 1,987] 8,684 2,920 2,433] 13,169 1,090 1,488 1,319 106
&l 17,3411 3,690| 5,020 1,477 307 17,3100 3,817 2,370 1,631 17,310] 4,071 1,294 1,143] 6,271 1,996 1,628 6, 651 592 933 860 1
FReEET 1,759 1,597] 2,425 685 139 7,759 1,783 1,131 800| 7,759 544 539 844] 2,318 924 191 6,116 455 540 447 95
=plIks) 460 92 149 43 16 460 86 63 44 460 - 85 - 95 - 14 402 43 15 12 10
tuh-iNEt 7,088] 1,367 1,870 502 104 7,088 1,517 789 453 7,088 766 185 1,203 878 593 1,406 6, 052 434 567 452 8
Tam 7,088] 1,367 1,870 502 104 7,088 1,517 789 453 7,088 166 185 1,203 878 593 1, 406 6, 052 434 567 452 8
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E E|EhE|s0E|SHE | 0—) | BHEE | BHEE | EER B | ZER |auzse)|gurso| guzeo | Gueso)| WL | QoK% | Q0KLLL)] 18, 5% 3-&%‘“

(a (b)
wmmet| 12,301 2,555 4,305 1,351 284 12,377 2.783] 1,785 1,360 12.377] 2,044 1.112] 1,558 4.425] 2 143] 1.504] 5 682 859[ 1,800 591 52
wmest| 9620 2,064| 3353 1,072  222] 9.615| 2168] 1.450] 1.148] 9,615 1,693 1,005]  9s6| 3, 942| 1,855 980[ 3,676 603[ 1,302 448 46
mwa | 6,479] 1.430] 2,189 601|148 6,465] 1,441 971 758| 6,465| 1,465 676]  514| 2.840] 1,348 68| 1,505 267 803 289 !
mesm [ 2,986 594 1,104] 359 68| 2986|  690] 460  368| 2,986| 228| 206]  472[ 1070 507 284( 1,959 308 485 156 42
Bl 164  s0f 6| 22 6| 164 37 19 2| 164 -l s - 32 - 8 122 28 14 3 3
wh-met| 2,762 491 eso[ 279 62| 2762]  615] 35|  212) 2,762 ss1| 107]  s72[  4s3] 288 524{ 2,006 256 498 143 6
@ | 2762 491|952 279 62| 2762]  615] 35| 212) 2,762 ss1| 107]  s72[  4s3] 288 524{ 2,006 256 498 143 6
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wmgit| 20257 4191 5.159| 1,356] 282 20,240[ 4,417] 2,568] 1,568 20,240 3,337 991 1,632[ 5137 1,370 2,335 13,539 665 255( 1,180 62
wmast| 15931 3.315] 4.241] 1,133]  240] 15,914 3,515 2,114 1.327] 15, 914] 2, 922] 913] 1,001] 4,742] 1,065| 1,453] 9,493 487 186 871 60
mwa | 10,862 2.2600 2,831 86| 159 10,845] 2.373| 1,399  s73| 10,845 2,606 618] 620 3 431 648 9d0[ 5, 056 325 130 571 0
megm [ 4,773 1,003 1,321 326 1l 4773 100 67 432 4773  s16| 243|  am2 1,248 417 507( 4,157 147 55 291 53
Bl 296 52| 89| 2 10| 296 49 44 2| 296 - w2 - 63 - 6 280 15 1 9 7
wi-ngt| 4,36 s76|  ors] 223 w0 4326 02|  asa| 241 4306 a15| 78] 31| s95] 305 882 4 046 178 69 309 2
Tad | 4,32 876] ot8] 223 2 43260  902] 454|241 4,326 45| 78] 631] 395] 305 882 4,046 178 69 309 2
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<> (Er19ERE)
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e B %|lg|low|Elo |22 |20 N
- | &% E = % 1= i %_
&5 |&F &
e | 50,474 16,112] 31.9] 1,825 11.3]1,527] 83.7 372 13 1 1,141 9] 289
Afr/het | 33,796] 12,506] 37.0] 1,470 11.8] 1,242] 84.5 342 12 1 887 1| 221
=1l 23,794] 9,095| 38.2] 1,118 12.3] 967] 86.5 280 9 -l 678 7| 144
FeEETH 9,745 3,219] 33.0] 329 10.2] 255 77.5 56 3 - 196 -1 4
=PIIES) 257 192 74.7 23] 12.0 20 87.0 6 - 1 13 - 3
tv4-1vet | 16,678 3,606 21.6] 355 9.8] 285 80.3 30 1 -l 254 68
TEH 16,678 3,606] 21.6] 355 9.8] 285 80.3 30 1 -l 254 2 68
BNARBZERKRE (T6—-3—1)
<EB> (ER19 ERE)
= P i g
Z = = b ® paN NE B g
xit Z 2 = % S 2 E A |8 Al Al * @
E) E) ~ | = - 2 = B »H |D N 8| =
# # % . % = ~ &b ) > D =
']l ||| | |B|X
&5 |& =1
e | 19,491 7,446] 38.2| 1,042] 14.0] 837] 80.3 199 8 630 4 201
Afr/her | 12,303] 5,772| 46.9] 831 14.4] 680] 81.8 180 8 - 492 3| 148
= 8,616 4,130 47.9] 613 14.8] 510] 83.2 144 6 - 360 3l 100
FeEETH 3,578| 1,558| 43.5] 204] 13.1] 158] 77.5 33 9 - 123 B T
=PIk} 109 84| 77.1 14 16.7 12| 857 3 - - 9 - 2
tuh-1hEt 7,188 1,674] 23.3] 211 12.6] 157] 74.4 19 - - 138 1 53
TEH 7,188 1,674] 23.3] 211 12.6] 157] 74.4 19 - - 138 1 53
BAAREZERIRR (T6—3—2)
<> (ERK19 FEE)
% *ﬁ ‘H = *ﬁ g
Z = = b ® paN NE B .
> Z 2 = 1:; S 2 L A |8 AIB Al X ,f;
E) E) ~ | = - 2 = B H |0 » o m =
S l#]l e | ¥ |2 | |B|X
&5 |&F &
&riasr | 30,983 8,666 28.0] 783 9.0 690] 88.1 173 5 1 511 5 88
ARFr/NEE | 21,493] 6,734] 31.3] 639 9.5 562 87.9 162 4 1 395 4 13
=i 15,178] 4,965 32.7| 505 10.2| 457] 90.5 136 3 - 318 4 44
FREETH 6,167 1,661] 26.9] 125 7.5 971 77.6 23 1 _ 73 | s
=PlIES) 148 108] 73.0 9 8.3 8| 88.9 3 - 1 4 - 1
tUh-1hEt 9,490 1,932| 20.4] 144 7.5 128 88.9 11 1 - 116 1 15
TEH 9,490 1,932] 20.4] 144 7.5] 128] 88.9 11 1 - 116 1 15
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il & ~ | = - 2 = B H |D » 5| B =
B w %l |Elole|28 22, |3
S| % | Tl | | #B]|X
=5 |& &
Ry | 51,454 21,585 42,0 1,168 5.4 791 67.7] 266 46 -1 a9 28] 349
App/het | 33,801] 15,954] 47.1] 903] 57| 615] 681 225 31 -| 39| 20| 268
=S 23,794 11,010 46.3| 645] 5.9] 467 72.4 174 27 -1 266 19| 159
FeEsTH 9,745 4,635 47.6] 225 4.9] 134 59.6 45 2 - 87 Y
=JIIESS 352 309 87.8] 33 10.7 14 42.4 6 2 - 6 1 18
wh-/nst | 17,563 5,631 32.1] 265 4.7 176] 66.4 4 15 -1 120 8| 81
TEH 17,563 5,631] 32.1| 265 1| 176]  66.4 4 15 - 120 8| 81
KENAREZERIKR (T6—4—1)
< B> (ERR1Q EE)
E *% ‘ﬁ = *ﬁ g %
B Z = = b B N MNlE N v
it 2 |2 |e|ln |B|2|2|| A4 BRABA £ | 4
mEie | 2| 2| F el = |2 BB T |WOTA *
& £ ~ | = - 2 3 B H |o H 5| | =
gl w |%lg|lw|Flo|2]2® 22, |2
= 2 % E = [ 1= i "%f
EZ |& =
sz | 19913 9,371 47.1] 612] 6.5 399 65.2 108 26 -l 265 13] 200
AFr/hetr | 12,335 6,977 56.6] 481 6.9] 312] 64.9 93 18 -l 201 11| 158
AT 8,616 4 728 54.9] 342 7.2| 242 70.8 70 17 -1 155 1 89
FeEE ™ 3,578 2,128 59.5( 122 5.7 63| 51.6 21 1 - 41 - 59
=PIk 141 121 85.8 17 14,0 7| 412 2 - - 5 - 10
yh-INSt 7,578 2,394] 31.6[ 131 55| 87| 66.4 15 8 - 64 2| 42
TEH 7,578 2,394] 31.6[ 131 55 87| 66.4 15 8 - 64 2| 42
KEDAREZERKR (T6—4—2)
<Z> (RO FEE)
=] A =7 =]
- 2 T
2 = = A ® N M|&E A g
st 2 | Z2le|lg |B| 2|24 |BBAMBA R]| 4
& A |~ || |2 F| 2| & |0 AN R I
2 B2 lg|lw|BElo2] 2 |22 N
~ # 3/9 £l 1= % 1= = i
Il ES &
emiazk | 31,541 12,214] 38.7] 556] 4.6 392 70.5 158 20 -1 214 15 149
Afr/Net | 21,556 8,977 41.6] 422 4.7 303 71.8 132 13 -l 158 9| 110
=W 15,178 6,282] 41.4| 303] 48] 225 74.3 104 10 11 8 70
FEET 6,167 2,507| 40.7| 103] 4.1 71| 68.9 24 1 _ 46 1 3
=IES] 211 188| 89.1 16 8.5 7| 43.8 4 2 - 1 1 8
byh-INEt 9,985 3,237 32.4] 134 41 89| 66.4 26 7 - 56 6| 39
TEH 9,085 3,237 32.4] 134 41 89| 66.4 26 7 - 56 6| 39




7 MAARZERRE (T6—-5)

<{B#}>
(#80 (ERL1 9 5RE)
%
DilIESES = = b
4 =4 %
emiagg | 46,251 34125 73.8
/et | 31.847] 26,350 82.7
=L 21,559| 17,554 81.4
AREH T 9,745 8,381 86.0
Bt 543 415 76. 4
tuh-iNEt | 14,404 7,775 54. 0f
TEH 14,404 7,775 54. 0]
(HERT v o REGEEDH) (ER1 9 FE)
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| = e | B | B s & A "
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& = - Z | 2| R & |0 (bS]
2 £ %w |B|~|® | 2|6 |2 N
- # % El - |5 1= 7 %’
-k #
&Riasg | 33 905 821 2.4 685] 834 262 13 1l 409 2| 134
Ar/net | 26,244 706 2.7 93] 840l 208 11 -| 354 - 113
=G 17, 486 520 3.0 449] 863 169 8 -1 272 -7
FREH T 8,343 178 2.1 1371 77.0 59 2 - 76 o
=plES) 415 8 1.9 7| 87.5 - 1 - 6 1
tuh-1NET 7,661 115 1.5] 92| 80.0 34 2 1 55 2l 21
TEH 7,661 115 1.5] 92| 80.0 34 2 1 55 2l 21
(BEERHMREZ D H) (FERR1 9 &)
- =3 B = B B & &
= = L n N&E N v
= o ,; Bl 2| 2| A |8 AE A % ,@
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BRI 40 - 1 ] - L
A NE 29 - o
Bl 23 - u D D D D B A .
FeEET™ 6 - - - - - - - - - -
B4t - - - - - - - - - - -
tU9-INEE 11 - - - - - - - - - -
TEH 11 - 1 - - - - - -] -
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=G 45 - - - - - - - - - -
FREETH 32 - - - - - - - - - -
=MIES) - - - - - - - - - - -
yh-1NET 103 - - - - - - - - - -
Tai 103 - - - - - - - -1 -
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(830 (CER 1 95fE)
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Eias | 18,105] 13,284 73.4
Afr/NEE | 12,012 10 211 85.0]
=D 8,232 6 675 81.1
FEHTH 3,578 3,392 94.8
=MIES) 202 144 71.3
tyh-Ihet 6,093| 3,073 50. 4
T2 6,093 3,073 50. 4
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ooy % |2 |~ |2 2|8 |»® >
~ g% | 7 = |5 1z i %
E |& #
R | 13004 399 3.0l 321 80.5| 116 10 1 194 -1 78
ARF/NET | 10,124 342 3.4 282 825 104 8 I 170 -l 60
=1 6,618 251 3.8 212| 84.5 78 5 - 129 -l 39
FREETH 3,362 87 2.6 66| 75.9 26 2 - 38 -1 21
=JEs 144 4 2.8 4| 100.0 - 1 - 3 - -
tyh-1N et 2,970 57 1.9] 39| 68.4 12 2 1 24 -1 18
TEH 2,970 57 1.9] 39| 68.4 12 2 1 24 - 18
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TEtH 9 - - - - - - -
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FreEETH 29 - - - - - _ _
=IIEE] - - - - - - -
woa-INET 94 - - _ _ - ~ -
Tah 94 - - - - -
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=l 13,327 10,879 81.6
BT 6,167 4,989 80.9
=P1IES] 3 271 79.5
tvh-1hEt 8,311 4,702 56. 6
Ta 8,311| 4,702 56. 6
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wvi-/nEt |12, 624] 2,299] 2,175| 1,491] 23.6] 33| 1.4] 19] 57.6 4 1 - 14 1| 13
FTaH |12, 624] 2,299 2, 175] 1,491 23.6] 33| 1.4] 19| 57 4 1 - 14 1l 13
KB > (ERK1 9 EE)
= B | B = & & @ B
= | w | B |8 B A& A ¥&
2 e |l m |B]| 2|24 [EABA x| &
= 2| |2 2|2 |60 (62 1&]|2
2 | x|l e | B~ | ® > % - @ ©
2 1] % g = |5 1= = &
I 7 |1E &
CERRE - = = = m - R p—
ARFT/NE -1 - - - - - - -] -
=1l - - - - - - - S I
REE - - - - - - - -l -] -
B i - - - - - - - - -] -
tua-INEt - - - - - - - -1 -] -

Tafh




* EAARBERRR (T6-7)

<BHMBHROH> (ER1 0 £)
1 s | B B B £ &

j(qc.l' '_5:' E J% E@ *% *ﬁ *ﬁ '__X" E Y ;,)% ) = u ;—E *ﬁ

makg | 2| 2|8 | B\ Flglx 2 BIRTIOTT ) | X

gl x|z |lz2 |~ ||l |B|®|a|a|, 54”2

% % % 2% 8| % Bl o0 > b |° i

# % |2 |3

ENRE | 21,678 4 - -l 0.0 - - - - - - - - -
ARGt | 21,678 4 - oo - - 4 A - A4 | - -
St 15,128 4 - - 0.0 - - - - - - - - -
mgm 67| - - - - 4 - A4 1 -1 A4 | - -
B 114 sl - | - A ] -
-1t A ] -
TEM 1 ] -
<IVESS T4 BRAR> (FA1Q&E)
|, s | B 2 B B £ &

g 2 | £ | 2|2 gl 8|28 4 B Ul k| #

cons | 2B S| 8| =|B| 2 28| cBOch |

2l &5 | 2| 2|~ 2l 22| & b B2

‘ 2 > |l l &I ~ n 2 s

’?& ﬁ % a7 \/9 ;ﬁ % %— ~ &) & ) a7

w | & Slale T2 L B8]

z |&

ENH%L 126,678 8 313| 7,641 4,812| 41.8] 752| 9.0| 567] 75.4] 259 9 11 298] 130
ARAF/NET | 21,678 7,052| 6,460 4,812 40.1( 614 8.7 457 74.4[ 214 8 -l 235 130
Sl [ 15,128( 4,534 4,013 2,871( 37.5] 344 7.6] 299| 86.9( 130 5 -| 164] 18
FeEEH 6,167| 2,421 2,342 1,878| 46.8] 264] 10.9] 155 58.7 83 3 - 69 109
=Hllks) 383 97 105 63| 36.3 6] 6.2 3] 50.0 1 - - 2 3
tv-hEE | 5,0000 1,261 1,181 -| 48.8] 138] 10.9] 110{ 79.7 45 1 1 63 -
Tam 5,000 1,261] 1,181 -| 48.8] 138] 10.9] 110{ 79.7 45 1 1 63 -

MEENZZER + ARFEOZZEN - MEERVEFKFEIC
! DEH ) - TAREEOMREH x100



ZEBERR (T6—8)

(ER1 9FE)

& & B % T R E & B D

HATH 2 23 . | = . . I
= Ewis | Emes (2sanT Epns | Eres (2snod
%50 60 |70 m%[40 #®[50 |60 FR
BN 93 8 12 5 17 13 24 63 7 23 818 84 104 630
AFF/NET 93 8 12 5 17 13 24 63 7 23 818 84 104 630
=G 82 i 10 4 16 12 21 63 7 12 482 34 53 395
MREE™ - - - - - - - - 324 48 47 229
I=Nikss 11 1 1 - - 11 12 2 4 6
b5—/Et - - ] - i : - : :
TEh - 0 - - - _ - - - -
(2) ZARBSEEEREIKR
7 EEFIRIAT - BEM - #EedlE (T6—9)
(FR19FE)

R F IR T E M AN EEEE: W ®

L E] I A B B B BRAEAR) e Al s
BIRIE| R |EERE| BERE| R |REED

mpmt | 1,556] 1,140 2 696 1 2m n 87| 864| 1878 -
RFINE 949 704] 1,653 T 234 - 87 520] 1,700 n
- 638| 268 906 1 2 n 87| 513|105 -
— | a2 697 - - - - B Y -
B I 40 10 50 - - - - 7 54 -
e i IET 607|  436] 1,043 - T n 1 saa| 178 -
e 607|  436] 1,043 - 10 n N YY1 R -




4 @5 - EEEEZHSE (T6—10)
(ER1 9EE)
BEAEELEDEREIRT * &£ B E & 38 O F B K R
o _ L o E v B P I%‘ A2, Wy EE p :‘_,E: | SH i oI}
HETH & 5 =0 | Shens| B |2 @ T _ ES] ﬂ & _ B O E JFI‘I:ZA= & B Al _ A B _ f% _
meEn|smELs|prassnEss|mran]snELss|Enax|sness|=nEnsnEss|EHa%]snEAS
BB - - - - | s514] 22,237 11 511 7 301 80 753 1 250 415] 20,422
AR/ - - - - - 371 19, 859 11 511 7 301 29 316 1 250 323] 18, 481
=17 - - - - - 284 18, 265 11 511 - - 26 206 1 250 246] 17,208
P— - - - - - 80| 1,204 - - 6 238 - - - - 74| 1,056
&1 - - - - - 7 300 - - 1 63 3 20 - - 3 217
Py N _ - - 1 1a3] 2378 - - - - 51 437 - - 92| 1,941
T2 - - - - -1 1a3] 2,378 - - - - 51 437 - - 92l 1, 941
* [EREELAEOERIKRT] OABITEEERT LA
(3) ZEANREFEHEEEREIRR (T6—-11)
(TR 19 &)
A4 4 EinEE %‘%ﬁ’ﬂf;% & %ﬁ;’ Y nmsms |wreus B B BaEnSE| zot
N X Opefidigs| HEHE
o =A8 2. 478 - 6 28 10 - - T 31
BRER 8 3,089 - 14 33 1 - - 13 33
— | =AB T.826 - 6 27 10 - - T 6
RINE A A 2,335 - 14 32 1 - - 13 8
_ =AB 1. 641 - 5 22 5 - - 8 6
AW e 2,130 - 12 27 6 - - 10 8
EYN] 146 - 1 - - - - - -
G 166 - 2 - - - - - -
EYN] 39 - - 5 5 - - 3 -
kS
G S o - - : : - . 3 .
.. | =AR 652 u . 1 . . . - 25
2R AR 754 ~ ~ 1 _ _ _ _ 25
=A8 652 = = 1 . = . - 25
TET A 754 - - 1 - - - - 25




